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1) Use the following two statements to answer this question:

I. Economic theories are developed to explain observed phenomena by deducing
from a set of basic rules and assumptions.

II. Economic theories use value judgments to determine which people ought to pay
more taxes.

A) Both I and II are true.

B) Iis true, and Il is false.

C) ILis false, and II is true.

D) Both I and II are false.

2) Which of the following will NOT cause a rightward shift in the demand curve for
beer?

A) A change in the price of beer.

B) A health study indicating positive health benefits of moderate beer consumption.
C) An increase in the price of French wine (a substitute).

D} A decrease in the price of potato chips (a complement).

3) Which of the following statements is NOT true?

A) Unemployment in the US economy represents an excess demand for labor.
B) A surplus may be reduced by shifting the demand curve rightward.

C) A surplus may be reduced by shifting both the supply and demand curves.
D) A shortage may be reduced by shifting the supply rightward.

4) If indifference curves cross, then:

A) the assumption of a diminishing marginal rate of substitution is violated.
B) the assumption of transitivity is violated.

C) the assumption of completeness is violated.

D) consumers minimize their satisfaction.

5) If X and Y are perfect substitutes, which of the following assumptions about
indifference curves is not satisfied?

A) Completeness.

B) Transitivity.

C) More is preferred to less.

D) Diminishing marginal rate of substitution (MRS).
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6) Which of the following is true regarding utility along a price-consumption curve?
A) It is constant. '
B) It changes from point to point.

C) It changes only if income changes.

D) It changes only for normal goods.

7) Which of the following is true about the indifference curve where one commodity
(such as pollution) is "bad"?

A) It has a negative slope,

B) It has a positive slope.

C) It is horizontal.

D) It is vertical,

8) The weighted average of all possible outcomes of a project, with the probabilities
of the outcomes used as weights, is known as the

A) variance.

B) standard deviation.

C) expected value.

D) coefficient of variation.

9) Use the following statements to answer this question:

. Subjective probabilities are based on individual perceptions about the relative
likelihood of an event.

Il To be useful in microeconomic analysis, all interested parties should agree on the
values of the relevant subjective probabilities for a particular problem. -

A) T and II are true.

B) I 1s true and II is false.

C) 1l is true and I is false.

D) I and II are false.

10) The short run is

A) less than a year.

B) less than three years.

C) however long it takes to produce the planned output.
D) a time period in which at least one input is fixed,
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11) Which of the following actions is not an example of the production coordination
provided by firms?

A) Manage production activities of workers.

B) Pay wages to workers.

C) Establish industry safety regulations.

D) Set the production schedule for each week.

12) Prospective sunk costs

A) are relevant to economic decision-making,.
B) are considered as investment decisions.

C) rise as output rises.

D) do not occur when output equals zero.

13) Consider the following statements when answering this question;

I. A firm's marginal cost curve does not depend on the level of fixed costs.

II. As output increases the difference between a firm's average total cost and average
variable cost curves cannot rise. '

A) T 1s true, and 1T is false.

B) I is false, and II is true.

C) I and II are both true.

D) I and II are both false.

14) If the market price for a competitive firm's output doubles, then

A) the profit maximizing output will double.

B) the marginal revenue doubles.

C) at the new profit maximizing output, price has increased more than marginal cost.
D) at the new profit maximizing output, price has risen more than marginal revenue.

15) Marginal revenue, graphically, is

A) the slope of a line from the origin to a point on the total revenue curve.

B) the slope of a line from the origin to the end of the total revenue curve.

C) the slope of the total revenue curve at a given point.

D) the vertical intercept of a line tangent to the total revenue curve at a given point.

16) Consumer surplus measures

A) the extra amount that a consumer must pay to obtain a marginal unit of a good or
service.
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B) the excess demand that consumers have when a price ceiling holds prices below
their equilibrium.

C) the benefit that consumers receive from a good or service beyond what they pay.
D) gain or loss to consumers from price fixing.

17) Suppose the market supply curve is upward sloping and market demand is
perfectly inelastic. If the market price is held above the equilibrium level, which of
the following statements about the resulting outcome is not true?

A) The decrease in consumer surplus is fully captured by the producers.

B) There will be an excess quantity supplied.

() Quantity demanded will remain the same.

D) Quantity demanded will decline.

18) Which of the following is NOT true regarding monopoly?
A) Monopoly is the sole producer in the market.

B) Monopoly price is determined from the demand curve.

C) Monopolist can charge as high a price as it likes.

D) Monopoly demand curve is downward sloping.

19) At the profit-maximizing level of output, demand is
A) completely inelastic.

B) inelastic, but not compietely inelastic.

C) unit elastic.

D) elastic, but not infinitely elastic.

20) Rather than charging a single price to all customers, a firm charges a higher price
to men and a lower price to women. By engaging in this practice, the firm:

A} is trying to reduce its costs and therefore increase its profit.

B) is engaging in an illegal activity that is prohibited by the Sherman Antitrust Act.
C) is attempting to convert producer surplus into consumer surplus.

D) is attempting to convert consumer surplus into producer surplus.

21) Which of the following is NOT a condition for third degree price discrimination?
A) Monopoly power

B) Different own price elasticities of demand

C) Economies of scale

D) Separate markets
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22) Use the following two statements about monopolistic competition to answer this
question.

. Inthe long run, the price of the good will equal the minimum of the average cost.
II. In the short run, firms may earn a profit.

A) T and II are true.

B) 1is true, and II is false.

C) L is false, and II is true.

D) I and II are false.

23) Why don't some firms in monopolistic competition suffer losses in the long run?
A) The firms have enough monopoly power to ensure they always earn profits.

B) Free entry allows enough firms to remain in the market and maintain the critical
mass of firms required to attract customers.

C) Free exit implies that any unprofitable firms leave the market in the long run.

D) In the long run, firms will build enough brand loyalty among customers to ensure a
profitable level of sales. '

24} Which of the following are examples of cooperative games?

A) The bargaining between a buyer and seller over the price of a car.

B) Independent action by two firms in a market regarding advertising strategies.
C) Independent pricing strategies by two firms in a market. :

D) Independent pricing strategies by many firms in a market.

25) A Nash equilibrium occurs when

A) each firm is doing the best it can, given its opponents' actions.

B) each firm chooses the strategy that maximizes its minimum gain.

C) a player can choose a strategy that is optimal regardless of its rivals’ actions.
D) there 1s no dominant firm in a market.
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Notes: Y= rate of growth of industrial production { Federal Reserve Bulletin), relative to expotential trend.
(M - M*),=rate of growth of M1, nominal and seasonally adjusted (Friedman and Schwartz, Table 41), less
predicted rate of growth.
(P~ P?),= rate of growth of wholesak price index ( Federal Reserve Bulletin), Jess predicted rate of growth,
DBANKS,= first difference of deposits of failing banks (deflated by wholesale price index).
DFAILS, = first dilference of liabillities of failing businesses (deflated by wholesale price index).
Data are monthly; r-statistics are shown in parentheses.
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